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Tiible III—Gives the pi'eflcnt value of a quarterly in»talm«nt qf f 1 payable at tho

end of each quarter from 1 to 80 (20 yeaiH) at the various ratea given,

when the first instalment tieconios due at the end of the Ist, 2nd ur 3rd

month, and the second or corn;H{K)nding instalment at the end of the

4th, 5th or Gth month, and so on.

Table IV—Gives the present value of a haif-yeathj instalment of #1 imyablc at

the end of each hidf-year, at same rates »w above for 20 years, when
the first inHtitlment matures at the end of the 1st, 2nd, 3i*d, 4th, 5th or

6tli month, the second at the end of the 7th, 8th, 0th, 10th, 1 Ith or

12th month, and so on.

Tui)le V—Gives the present value of a yearly instalment of $1 payable at the

end of each year when firat instalment matures at end of 1st, 2iid, Snl,

4th, dth, Gth, 7th, 8th, 9th, 10th, 11th or 12th month, the second at

the end of the 13th, 14th, ISth, 16th, 17th, 18th, 19th, 20th, 21st,

22nd, 23rd or 24tli month, and so on for 20 years.

Table VI—Gives the instalment i-efpiired to i-epay a Loan of $1000 at the

various mtes of Interest enumerated, compoundetl yearly and half-year

ly, and when siid iuHtiiliiu'uts are payable yearly, lialf-yearly, quarterly

or monthly from I to 20 years.

Table VII—Exhibits the yearly instalments or 'innuities rerpiired to repay a loai.

of $100 by a Sinking Fund from 1 to 50 years, in terms of the Cit'dit

Foncier or Landed Credit Company of the Province of Quebec, (>'an:ula.

It is appendcxl for reference in case some {mrties might pi-efer borrowing
on this system.

Note.—Tables II, III, IV and V, represent the aggregate present

values of 81 at the end of each month, cpiarter, half-year and year re-

spectively for the j)erio<l of 20 years.

Table VI may be formed by dividing $1000 by the present value of a

monthly, quarterly, half-yearly or yearly instalment of $1 for each year

from 1 to 20 yeai-s. It exhibits the ratio, the amount of instalments

shown in the resjx^tive Tables iM^ai-s to $1000 which $1 does to the

value of an instalment of $1 for the same period ; thus, the present

value of an instalment of $1 \^v month for ten years, 10% half-yearly

intei-est^ $76-31629. What instalment monthly for same time and
same rate of interest would represent jtresent value of $1000 1

$76-31629 : $1-00; ; 1000:$13-104.

These instalments are given exact to the next cent abt)V(' the true value

when the fnwtion exceeds j\y of a cent. In all the other Tables, the

values are inaile true to the nearest decimal.

USES OF THE TABLES.

1. To find the present value of an ordinary Mortgage, or any sum to be

paid at the end of a period of years, or years and some months.

By Table I, find the present value of $1 for the term required, multiply

tlie sum by the factor corresponding to the number of months in the Table under

the required rate of interest.

Example.—Required the present value of $1000 due 14 years and 7 months
hence, interest at 10% payable half-yearly. By Table I, factor for 14 yeai-s

7 months is -24098 and 24098 x l000^$240-98 the present value.


